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F�f���	�� �� �m�f�<������� �� �a�f�:�47��
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 ��������=�����<����%�0��7����� ����Q��
���=����	���%�R��������%�����"�0�.�

��� ��'+��&��	�(Inertia)� �����'+�!�)������������&���	����������	���+����9	�
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�����������"� +��	�(Mass)�����������>��/6��:�4�7�>��A����<����D+�

 ������ ����	��������0�'"����7�)����������� 2�����j�B�X��
�O�A�D�+��g��N

 �� ��������	����������������	����������"��4$����	!�)�0
O�A��+����

�����(Weight)��������������������������� /���D+��������������.��(�<�����%�)

�����������9	����� ��!�-	"�D+������D+� 4����+����'�m/s2��pqLr���:�4�7�
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��&�l���������������.��(���!�-	"�D+��%�����0�)�����

����0�F+��?��\6����(w)����������D+�C����(m)������7��.��(���H+�� 2����

�:�47�
���������%��"(a)���	!������)��

g

a
�u�m�f�W��

�������������� �+��	���	
����
���� 4��� ��!�-	"�D+�<���D+�0>�S�����'6���

� ���������:�47�D+���H+��@\���"���	!m/s2�|sLIr �������!k�:�47

�����9	����3Gl�������%�����0s��-	"����7��.��(���!�)����D+�C�����"� +��	�

������������������������4����C+��7�
������ ��!�-	"�D+�<��k����:�4�7�D�+

m/s2��tK�pMLr�l� ��>�/6������ ����	�������	��0��7��������%�
��[6�����7

N�
�����)�����/.���	�����	��D+�W+�2�� '2+kg/s2�q �����7���)��A��

���?�$�<4�	�������	�L���*L��0�	��
(ft/lb/sec)��	�����*������
��[6���
���9

���%bfq� �����7���)������������&����*�D�+�������D+�C�����"�
��� +��	���%

�����������������4���C+��7�
��k��D+ft/s2�pLsI�l�� �����H+�������7�)���,

����������	��y���A��:�47��	�����"�
����"x����k����l���������C�������"

��� ���	O����	���������������������������	O����5��4�7��+����C�������"� ����������7

 ������?��N��0��7�����������)���������D�+�y���A��@\���0:�47�>�37���+��

�����������������		G��WO��X��
�5�������"���7���.��(� +��	�Velocity������H+��

 �����7)��

����0�	���������������������������������0����y���A����:�47�����.
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5��D+�����
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5�������7�)�� �4��

�������������R��"���T�����	���������������� 7���:�47�R��=��������H+��
���=

 ������������������y��/���	����`�������<	=4���	}��+�<	=4�����T������������7

� ����	*������ �����H�� 2	\T�����0�'"����������������������������!������!�����!

�����:�47�����"�<	.�m/s2�pqLr��
�7����.��X�� ����~	.�0�'"���=���)

�������� ����c���+������	�������������0�+����'��������� ����%���"�
���4/.����������

�H+��@\��������R�����������D�+�����5�%�&����.�����7������+���:�47���

�'4�	���	�������������C������H+�)��

��"�#�$�%&�
'����()���������

� �,���T�?����		G������?����Velocity���&�5��4��7�����H+��@\����0�

 �,�T����?��k�������4Q	�I���
�	��l� ��9	������7�)��� ���5��47�E����+�����'����

�*�
"�A�
5��<.���
6���<.��'.���		G��������)��

'��*+�$�%&�
��
������������:�4�7�0����+���		G��
"�A�
5�������
6����!�

���������7���.��(����H+�� �(�)��������� ��(�&�5��4�7�0�������&��.����*���

 �,�T��� �� ��7��%����?��'��?��������>[4�(����H+��@\���"��'��

��������������?��7��%�����0 O��/2��&�.�/	*��.��S"����V�0���7���������3-/6

���-��������
"�A�����������		G��@\���"���������Velocity����7�)������ �O�

������������ ���:����*�
�"���C������/	*�1$��+����/	*��.��3+��������������+������7

��������������&�5��4�7�����/.�D�+�0
��� N����E�������/	*��.��	������4�Q�

 ����?����� �,���T� ���(�������7�����H+�����'�����)� ���(�&�5��4��7
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 �,�T����������������/	*�1�$�D+�:���*���F'.�08�9����?�����������������%����

�� ��g�N����	�����'4$��)����� ����� �(�:�47�D+�?�7�������������N4�����������

�������		G���%�����"� 4$���Velocity�� ��g�N��������������+��������?������4$�

��"��\������		G�)��

����/7�>���$q���
t

V
��f�a��

����/7�>���$I��
s

V

2

2
f��a��

����/7�>���$s��
2

2

t

s
��f�a��

a�f�����:�4��7v�f�����		G�Velocity���s �f��-��]�$���%�������"�&�v�

 ��g�N������4$�t �f���%�����"� �����?��v ��g�N�����4$���

�����&�.�A���������N4�����SI����������"���$���m/s2�qM�f�g��� ���0����������

��"���	������+��&�5O���$�)��

����/7�>���$|��GtqMf��V��

�>���$����/7K��
G

V

20

2
�f�S��

����/7�>���$t�
G

S

5
�f�t��

������������
�	/.��0�'4��.��c���������Q$�&�.��	���"�&����������5O���$��+�

�� ����	*�&��+����''"�)��������/�7�>����$�������N4�������0>�S�����'6���K�0�

���!�Velocity����-�]�$�����������������.��(�W���4����/	*��.��%������"�&������7�

� ��0<	�������������������<	�9���	/X��0�7��.��(���H+���"���� ��47���9	��<	����

�� ���3'+���+�������9	��<	����Padding���������@	��%����&�	!��-��
�5����,�

�R/������ 7��G<+����hXQ�����)��

��,�-'�$�%&�
'��
���������������3'+��������0��'"����	*���		G��
"�A�
5���!�

����������� ������H+�� 6�2�7�:�4�7�0����+��		G��
6��������7)���������/.�D�+�

��� ��g�N��� 4��� +�5��47����������� �����		G�������*�C�(��"��'4$�������R�S��0����+

��� ���������"� +�.�/	*��.���'.��)� 4���0 ��c������*�9	��&�.�/	*��.���
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